DUPAGE COUNTY DEPARTMENT	GROUP NUMBER -TYPE OF SERVICE	ADDRESS	CONTAINER DESCRIPTION	PICK-UP SCHEDULE	PRICE MONTHLY CHARGE OR COST PER UNIT "AS NEEDED" PICK- UP	QUANTITY 24 MONTHS OR ESTIMATED NUMBER OF "AS NEEDED" PICK- UPS	EXTENDED PRICE SERVICE COST FOR 2 YEARS (PRICE x QUANTITY)
#1 - ANIMAL SERVICES	GROUP 1 - SCHEDULED TRASH PICK-UPS	120 N. County Farm Rd.	(1) 2 Cubic Yard Trash	Monday - Friday (Daily)	\$ 51.09	24	\$ 1,226.16
T - AINMAE OLIVIOLO	GROUP 4 - SCHEDULED RECYCLED PICK-UPS	120 N. County Families.	(1) 2 Cubic Yard Co-Mingled Recycling	Every Other Week	\$ 35.00	24	\$ 840.00
						TOTAL #1 ANIMAL CONTROL	\$ 2,066.16
	GROUP 1 - SCHEDULED TRASH PICK-UPS	400 N. County Farm Rd	(1) 28 Cubic Yard Self Contained Totally Sealed Trash Compactor	Monday & Thursday	\$ 326.60	24	\$ 7,838.40
#2 - CARE CENTER	GROUP 3 - TRASH COMPACTOR RENTAL		(1) Compactor and Tipper Trash Lift/Used to tip Large Cans into Compactor	No Pick Up, Rental of Equipment	\$ 115.00	24	\$ 2,760.00
#2 - CARE CENTER	GROUP 3 - TRASH COMPACTOR RENTAL		(7) 1 Cubic Yard tilt trucks	No Pick Up, Rental of Equipment	s .	24	s -
	GROUP 5 - ESTIMATED ON CALL RECYCLED PICK-UPS		(1) 33 Cubic Yard Compactor (County Owns Compactor and Box) Co-Mingled Recycling	On Call "as needed"	\$ 140.00	24	\$ 3,360.00
	****				тот	AL #2 CONVALESCENT CENTER	\$ 13,958.40
	GROUP 1 - SCHEDULED TRASH PICK-UPS						
	Highway Garage	140 N. County Farm Rd	(1) 2 Cubic Yard Trash	Tuesday, Friday	\$ 51.09	24	\$ 1,226.16
	Highway Garage	180 N. County Farm Rd	(1) 2 Cubic Yard Trash	Tuesday, Friday	\$ 51.09	24	\$ 1,226,16
	GROUP 2 - ESTIMATED ON CALL PICK-UPS						
#3 - DIVISION OF	Highway Garage	140 N. County Farm Rd	(1) 20 Cubic Yard Roll-Off	On Call "as needed"	\$ 305.00	52	\$ 15,860.00
TRANSPORTATION	Highway Garage	140 N. County Farm Rd	(1) 30 Cubic Yard Roll-Off at Salt Dome	On Call "as needed"	\$ 345.00	52	\$ 17,940.00
	GROUP 4 - SCHEDULED RECYCLED PICK-UPS						
	Highway Garage	140 N. County Farm Rd	(1) 2 Cubic Yard Co-Mingled Recycling	Weekly	\$ 35.00	24	\$ 840.00
	Highway Garage	180 N. County Farm Rd	(1) 2 Cubic Yard Co-Mingled Recycling	Weekly	\$ 35.00	24	\$ 840.00
					TOTAL #2	DIVISION OF TRANSPORTATION	\$ 37,932.32

DUPAGE COUNTY DEPARTMENT	GROUP NUMBER -TYPE OF SERVICE	ADDRESS	CONTAINER DESCRIPTION	PICK-UP SCHEDULE	PRICE MONTHLY CHARGE OR COST PER UNIT "AS NEEDED" PICK- UP	QUANTITY 24 MONTHS OR ESTIMATED NUMBER OF "AS NEEDED" PICK UPS	EXTENDED PRICE SERVICE COST FOR 2 YEAR (PRICE x QUANTITY)	
	GROUP 1 - SCHEDULED TRASH PICK-UPS							
	Children's Center	422 N. County Farm Rd	(1) 2 Cubic Yard Trash	Tuesday Friday			T	
	Coroner's Office	414 N. County Farm Rd	(1) 2 Cubic Yard Trash	Tuesday, Friday	\$ 51.09	24	\$ 1,226	
	Election Commission Warehouse	2580 Diehl Rd, Aurora, IL	(1) 2 Cubic Yard Trash	Tuesday, Friday	\$ 51.09	24	\$ 1,226.	
	Sheriff	501 N. County Farm Rd	(1) 6 Cubic Yard Trash	Tuesday, Friday	\$ 51.09	24	\$ 1,226.	
	Sheriff's Work Alternative Program	200 N. County Farm Rd		Tuesday, Friday	\$ 130.28	24	\$ 3,126.	
	GROUP 2 - ESTIMATED ON CALL PICK-UPS	200 14. County Faint Ro	(1) 1.5 Cubic Yard Trash	Tuesday, Friday	\$ 40.00	24	\$ 960.0	
	Judicial Office Facility	505 N. County Farm Rd	(1) 18 Cubic Yard Self Contained Compactor Walk on from top stai	On Call "as needed"	\$ 326.60	100	\$ 32,660.0	
	JTK Administration Bldg.	421 N. County Farm Rd	(1) 29 Cubic Yard Trash Compactor	On Call "as needed"	\$ 326.60	30	\$ 9,798.0	
	Sheriff	501 N. County Farm Rd	(1) 29 Cubic Yard Self-Contained Totally Sealed Trash Compactor. County Provides Power Only, anything else needed to make it operational will be provided by the contractor	On Call "as needed"	\$ 326.60	110	\$ 35,926.0	
	FM - Grounds	170 N. County Farm Road	(1) 20 Cubic Yard Open Top Yard		\$ 350.00			
#4 - FACILITIES	GROUP 3 - TRASH COMPACTOR RENTAL	170 N. County Famil Road	Waste Only	On Call "as needed"	\$ 350.00	24	\$ 8,400.0	
MANAGEMENT	JTK Administration Bldg.	421 N. County Farm Rd	(1) 29 Cubic Yard Trash Self-	No Pick Up, Rental of Equipment	\$ 115.00			
	Sheriff	501 N. County Farm Rd	Contained Trash Compactor (1) 29 Cubic Yard Trash Self-	No Pick Up, Rental of Equipment	\$ 115.00 \$395/month if new compactor is		\$ 2,760.0	
	Judicial Office Facility		Contained Trash Compactor (1) 18 Cubic Yard Self Contained Compactor and Walk off platform		\$395/month if new compactor is	69	#VALUE!	
	GROUP 4 - SCHEDULED RECYCLED PICK-UPS	505 N. County Farm Rd	from top stair	1 22	needed 24		#VALUE!	
	Children's Center	422 N. County Farm Rd	(1) 2 Cubic Yard Co-Mingled	Weekly	\$ 35.00			
	Sheriff	501 N. County Farm Rd	Recycling (1) 6 Cubic Yard Co-Mingled		33.00	24	\$ 840.00	
	Sheriff's Work Alternative Program		Recycling (1) 1.5 Cubic Yard Co-Mingled	Tuesday, Friday	\$ 130.28	24	\$ 3,126.72	
		200 N. County Farm Rd	Recycling	Every Other Week	\$ 35.00	24	\$ 840.00	
	Election Commission Warehouse	2580 Diehi Rd, Aurora, IL	(1) 2 Cubic Yard Co-Mingled Recycling	Tuesday, Friday	\$ 51.09	24		
	GROUP 5 - ESTIMATED ON CALL RECYCLED PICK-UPS						1,226.16	
	Judicial Office Facility	505 N. County Farm Rd	(1) 35 Cubic Yard Compactor (County Owns Compactor, Vendor provides Box) Co-Mingled Recycling	On Call "as needed"	\$ 326.60	30	9,798.00	
	JTK Administration Bldg.	421 N. County Farm Rd	(1) 35 Cubic Yard Compactor (County Owns Compactor, Vendor provides Box) Co-Mingled Recycling	On Call "as needed"	\$ 326.60	30 \$	9,798.00	
					TOTAL	#4 FACILITIES MANAGEMENT	#VALUE!	
							#VALUE!	
#5 - HEALTH DEPARTMENT	GROUP 1 - SCHEDULED TRASH PICK-UPS	111 N. County Farm Rd	(1) 6 Cubic Yard Trash	Monday, Tuesday, Thursday, Friday	\$ 260.56	24 \$	8 252 11	
OLF ARTIMENT	GROUP 4 - SCHEDULED RECYCLED PICK-UPS	N. County Faith Rd	(1) 2 Cubic Yard Co-Mingled Recycling	Monday, Tuesday, Thursday,	\$ 102.19	24 \$	0,255.44	
- COMMUNITY	GROUP 1 - SCHEDULED TRASH PICK-UPS	115 N. County Form Dd	(2) 2 Cubic Yard Trash	Friday Monday, Tuesday, Thursday,	\$ 204.38	24 \$	2,452.50	
CENTER	GROUP 4 - SCHEDULED RECYCLED PICK-UPS	115 N. County Farm Rd	(1) 2 Cubic Yard Co-Mingled Recycling	Friday Monday, Tuesday, Thursday, Friday	\$ 102.19	24 \$	4,905.12	
				Tiway		-	2,452.56	

DEPARTMENT	GROUP NUMBER -TYPE OF SERVICE	ADDRESS	CONTAINER DESCRIPTION	PICK-UP SCHEDULE	PRICE MONTHLY CHARGE OR COST PER UNIT "AS NEEDED" PICK- UP	QUANTITY 24 MONTHS OR ESTIMATED NUMBER OF "AS NEEDED" PICK UPS	SERVICE	FENDED PRICE COST FOR 2 YEAR: CE x QUANTITY)
	GROUP 1 - SCHEDULED TRASH PICK-UPS							
	Woodridge Greene Valley Wastewater Treatment Facility	7900 S. Route 53, Woodridge	(1) 4 Cubic Yard Trash	2 x Weekly	\$ 102.19	24	s	2,452.5
			(2) 1.5 Cubic Yard Trash *Waste hauler is responsible to remove container from indoor location					
	Woodridge Greene Valley Wastewater Treatment Facility	7900 S. Route 53, Woodridge	Dumpsters must be plastic. County requires four (4) dumpsters on site but only two (2) emptied at a time.	2 x Weekly	\$ 235.00	24	S	5,640.00
	Underground Maintenance Facility	17 W 440 Frontage, Darien	(1) 8 Cubic Yard Trash	Weekly	\$ 102.19	24	s	2,452.56
	Knollwood Wastewater Treatment Facility	11 S 175 Madison St., Burr	(5) 1.5 Cubic Yard Trash	Weekly	\$ 315.00		s	7,560.00
#6 - PUBLIC WORKS	GROUP 2 - ESTIMATED ON CALL PICK-UPS Woodridge Greene Valley Wastewater Treatment Facility	7900 S. Route 53, Woodridge	(2) 1.5 Cubic Yard Trash *Waste hauler is responsible to remove container from indoor location.	On Call "as needed"	\$20 per container per dump	24	#VALUE!	
	GROUP 4 - SCHEDULED RECYCLED PICK-UPS		(1) 4 Cubic Yard Co-Mingled	***************************************				
	Woodridge Greene Valley Wastewater Treatment Facility	7900 S. Route 53, Woodridge	Recycling	Weekly	\$ 51.09	24	\$	1,226.16
	GROUP 7 - ESTIMATED ON CALL GRIT PICK-UPS Woodridge Greene Valley Wastewater Treatment Facility		(1) 15 Cubic Yard Roll Off (grit material) *Waste hauler is responsible to remove container from indoor location.		\$ 625.00	24		
		7900 S. Roule 53, Woodridge	See Appendix B - Grit Analysis Rolloffs are owned by DuPage County	On Call "as needed"			\$	15,000.00
						TOTAL #6 PUBLIC WORKS		#VALUE!
	•							
			1.5 Cubic Yard Trash	On Call "as needed"	\$ 15.00	10	\$	150.00
			3 Cubic Yard Trash	On Call "as needed"	\$ 30.00	10	\$	300.00
			4 Cubic Yard Trash	On Call "as needed"	\$ 40.00	10	\$	400.00
			4 Cubic Yard Trash 6 Cubic Yard Trash	On Call "as needed" On Call "as needed"	\$ 40.00 \$ 60.00		\$	400.00 600.00
#7 - VARIOUS	GROUP 2 - ESTIMATED ON CALL PICK-UPS	VARIOUS LOCATIONS				10		
#7 - VARIOUS	GROUP 2 - ESTIMATED ON CALL PICK-UPS	VARIOUS LOCATIONS	6 Cubic Yard Trash	On Call "as needed"	\$ 60.00	10 10	\$	600.00
#7 - VARIOUS	GROUP 2 - ESTIMATED ON CALL PICK-UPS	VARIOUS LOCATIONS	6 Cubic Yard Trash 8 Cubic Yard Trash	On Call "as needed" On Call "as needed"	\$ 60.00 \$ 80.00	10 10 10	\$	600.00 800.00
#7 - VARIOUS	GROUP 2 - ESTIMATED ON CALL PICK-UPS	VARIOUS LOCATIONS	6 Cubic Yard Trash 8 Cubic Yard Trash 15 Cubic Yard Trash 20 Cubic Yard Trash 30 Cubic Yard Trash	On Call "as needed" On Call "as needed" On Call "as needed"	\$ 60.00 \$ 80.00 \$ 300.00	10 10 10 10	\$ \$ \$	600.00 800.00 3,000.00
#7 - VARIOUS	GROUP 2 - ESTIMATED ON CALL PICK-UPS	VARIOUS LOCATIONS	6 Cubic Yard Trash 8 Cubic Yard Trash 15 Cubic Yard Trash 20 Cubic Yard Trash 30 Cubic Yard Trash 30 Cubic Yard Trash 30 Cubic Yard Commingled	On Call "as needed" On Call "as needed" On Call "as needed" On Call "as needed"	\$ 60.00 \$ 80.00 \$ 300.00 \$ 325.00	10 10 10 10 20	\$ \$ \$ \$	600.00 800.00 3,000.00 3,250.00
#7 - VARIOUS	GROUP 2 - ESTIMATED ON CALL PICK-UPS	VARIOUS LOCATIONS	6 Cubic Yard Trash 8 Cubic Yard Trash 15 Cubic Yard Trash 20 Cubic Yard Trash 30 Cubic Yard Trash	On Call "as needed"	\$ 60.00 \$ 80.00 \$ 300.00 \$ 325.00 \$ 350.00	10 10 10 10 20	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	600.00 800.00 3,000.00 3,250.00 7,000.00
#7 - VARIOUS	GROUP 2 - ESTIMATED ON CALL PICK-UPS	VARIOUS LOCATIONS	6 Cubic Yard Trash 8 Cubic Yard Trash 15 Cubic Yard Trash 20 Cubic Yard Trash 30 Cubic Yard Trash 30 Cubic Yard Trash 30 Cubic Yard Commingled	On Call "as needed"	\$ 60.00 \$ 80.00 \$ 300.00 \$ 325.00 \$ 350.00	10 10 10 10 20 5	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	800.00 800.00 3,000.00 3,250.00 7,000.00 1,633.00
	GROUP 2 - ESTIMATED ON CALL PICK-UPS GROUP 1 - SCHEDULED TRASH PICK-UPS		6 Cubic Yard Trash 8 Cubic Yard Trash 15 Cubic Yard Trash 20 Cubic Yard Trash 30 Cubic Yard Trash 30 Cubic Yard Trash 30 Cubic Yard Commingled	On Call "as needed"	\$ 60.00 \$ 80.00 \$ 300.00 \$ 325.00 \$ 350.00	10 10 10 10 20 5 TOTAL #7 VARIOUS	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	800.00 800.00 3,000.00 3,250.00 7,000.00 1,633.00
#7 - VARIOUS #8 - OEM / ETSB/DU-COMM		VARIOUS LOCATIONS 418 / 420 N. County Farm Rd	6 Cubic Yard Trash 8 Cubic Yard Trash 15 Cubic Yard Trash 20 Cubic Yard Trash 30 Cubic Yard Trash 30 Cubic Yard Trash Recycle	On Call "as needed"	\$ 60.00 \$ 80.00 \$ 300.00 \$ 325.00 \$ 350.00 \$ 326.60	10 10 10 10 20 5 TOTAL #7 VARIOUS	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	600.00 800.00 3.000.00 3.250.00 7.000.00 1,633.00
#8 - OEM/	GROUP 1 - SCHEDULED TRASH PICK-UPS		6 Cubic Yard Trash 8 Cubic Yard Trash 15 Cubic Yard Trash 20 Cubic Yard Trash 30 Cubic Yard Trash 30 Cubic Yard Trash 40 Cubic Yard Commingled 8 Recycle (1) 6 Cubic Yard Trash (1) 2 Cubic Yard Co-Mingled	On Call "as needed" Tuesday, Friday	\$ 60.00 \$ 80.00 \$ 300.00 \$ 325.00 \$ 350.00 \$ 326.60	10 10 10 10 20 5 TOTAL #7 VARIOUS	\$ 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	600.00 800.00 3.000.00 3.250.00 7.000.00 1,633.00 17,133.00
#8 - OEM/	GROUP 1 - SCHEDULED TRASH PICK-UPS GROUP 4 - SCHEDULED RECYCLED PICK-UPS		6 Cubic Yard Trash 8 Cubic Yard Trash 15 Cubic Yard Trash 20 Cubic Yard Trash 30 Cubic Yard Trash 30 Cubic Yard Trash 40 Cubic Yard Commingled 8 Recycle (1) 6 Cubic Yard Trash (1) 2 Cubic Yard Co-Mingled	On Call "as needed" Tuesday, Friday	\$ 60.00 \$ 80.00 \$ 300.00 \$ 325.00 \$ 350.00 \$ 326.60	10 10 10 10 20 5 TOTAL #7 VARIOUS	\$ 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	600.00 800.00 3.000.00 3.250.00 7.000.00 1,633.00 17,133.00
#8 - OEM/	GROUP 1 - SCHEDULED TRASH PICK-UPS		6 Cubic Yard Trash 8 Cubic Yard Trash 15 Cubic Yard Trash 20 Cubic Yard Trash 30 Cubic Yard Trash 30 Cubic Yard Commingled Recycle (1) 6 Cubic Yard Trash (1) 2 Cubic Yard Co-Mingled Recycling	On Call "as needed" Tuesday, Friday	\$ 60.00 \$ 80.00 \$ 300.00 \$ 325.00 \$ 350.00 \$ 326.60	10 10 10 10 20 5 TOTAL #7 VARIOUS	\$ 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	600.00 800.00 3.000.00 3.250.00 7.000.00 1,633.00 17,133.00
#8 - OEM / ETSB/DU-COMM	GROUP 1 - SCHEDULED TRASH PICK-UPS GROUP 4 - SCHEDULED RECYCLED PICK-UPS GROUP 6 - ESTIMATED ON CALL ASSESTOS PICK-UPS	418 / 420 N. County Farm Rd VARIOUS	6 Cubic Yard Trash 8 Cubic Yard Trash 15 Cubic Yard Trash 20 Cubic Yard Trash 30 Cubic Yard Trash 30 Cubic Yard Commingled Recycle (1) 6 Cubic Yard Trash (1) 2 Cubic Yard Co-Mingled Recycling	On Call "as needed" Tuesday, Friday Tuesday, Friday	\$ 60.00 \$ 80.00 \$ 300.00 \$ 325.00 \$ 350.00 \$ 326.60 \$ 51.09	10 10 10 10 20 5 TOTAL #7 VARIOUS	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	600.00 800.00 3.000.00 3.250.00 7.000.00 1,633.00 17,133.00 1,954.20 766.35
#8 - OEM / ETSB/DU-COMM	GROUP 1 - SCHEDULED TRASH PICK-UPS GROUP 4 - SCHEDULED RECYCLED PICK-UPS GROUP 6 - ESTIMATED ON CALL ASBESTOS PICK-UPS 2-YEAR PERIOD GROUP 8 - SCHEDULED TRASH PICK-UPS (19) Nineteen trail containers located along the specified trail	418 / 420 N. County Farm Rd VARIOUS LOCATIONS	6 Cubic Yard Trash 8 Cubic Yard Trash 15 Cubic Yard Trash 20 Cubic Yard Trash 30 Cubic Yard Trash 30 Cubic Yard Commingled Recycle (1) 6 Cubic Yard Trash (1) 2 Cubic Yard Co-Mingled Recycling	On Call "as needed" Tuesday, Friday Tuesday, Friday	\$ 60.00 \$ 80.00 \$ 300.00 \$ 325.00 \$ 350.00 \$ 326.60 \$ 51.09	10 10 10 10 20 5 TOTAL #7 VARIOUS 15 15 TOTAL #8 ETSB / DU-COMM	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	600.00 800.00 3.000.00 3.250.00 7.000.00 1,633.00 17,133.00 766.35 2,720.55
#8 - OEM / ETSB/DU-COMM	GROUP 1 - SCHEDULED TRASH PICK-UPS GROUP 4 - SCHEDULED RECYCLED PICK-UPS GROUP 6 - ESTIMATED ON CALL ASBESTOS PICK-UPS 2-YEAR PERIOD GROUP 8 - SCHEDULED TRASH PICK-UPS (19)	418 / 420 N. County Farm Rd VARIOUS	6 Cubic Yard Trash 8 Cubic Yard Trash 15 Cubic Yard Trash 20 Cubic Yard Trash 30 Cubic Yard Trash 30 Cubic Yard Commingled Recycle (1) 6 Cubic Yard Trash (1) 2 Cubic Yard Co-Mingled Recycling	On Call "as needed" Tuesday, Friday Tuesday, Friday	\$ 60.00 \$ 80.00 \$ 300.00 \$ 325.00 \$ 350.00 \$ 326.60 \$ 51.09	10 10 10 10 20 5 TOTAL #7 VARIOUS 15 15 TOTAL #8 ETSB / DU-COMM 6 TOTAL #9 ASBESTOS	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	600.00 800.00 3.000.00 3.250.00 7.000.00 1,633.00 17,133.00 766.35 2,720.55

DUPAGE COUNTY DEPARTMENT	GROUP NUMBER -TYPE OF SERVICE	ADDRESS	CONTAINER DESCRIPTION	PICK-UP SCHEDULE	PRICE MONTHLY CHARGE OR COST PER UNIT "AS NEEDED" PICK- UP	QUANTITY 24 MONTHS OR ESTIMATED NUMBER OF "AS NEEDED" PICK- UPS	EXTENDED PRICE SERVICE COST FOR 2 YEARS (PRICE x QUANTITY)
						GRAND TOTAL	#VALUE!
GRAND TOTAL (In words)							

		BOR RATE			
EXTENDED PRIC	PRICE	QTY	UOM	ITEM	NO
s	95	16	HR	LABOR RATE COUNTY OWNED HYDRAULIC COMPACTOR	1
s	GRAND TOTAL				

SECTION 8 - BID FORM SIGNATURE PAGE

The Contractor agrees to provide the service, and/or supplies as described in this solicitation and subject, without limitation, to all specifications, terms, and conditions herein contained. Bidder shall acknowledge receipt of each addendum issued in the space provided on the bid form.

Signature on File-
DISTRICT MANAGER
CORPORATE SEAL (If available)
BID MUST BE SIGNED AND NOTARIZED (WITH SEAL) FOR CONSIDERATION
bscribed and sworn to before me this 12 TH day of ARRIC AD, 20 22
gnature on FileMy Commission Expires:q 117133
Official Seal Mary Josephine O'Connor Notary Public State of Illinois My Commission Expires 09/17/2023

SEAL

SECTION 9 - MANDATORY FORM REFUSE DISPOSAL, RECYCLING AND ASBESTOS PICK-UP SERVICES 22-026-FM

	PLEASE TYPE OR PRINT THE FOLLOWING INFORMATION)
Full Name of Bidder	GROOT INDUSTRIES
Main Business Address	1330 GASKET DRIVE
City, State, Zip Code	FL6114 16 60120
Telephone Number	847/774-1878 Email Address TVANDERNAALD Q GROOT
Bid Contact Person	TED VANDER NAAL) -COM
The undersigned certifies that	
the Owner/Sole Proprietor	a Member authorized to sign on behalf of the Partnership a Member authorized to corporation an Officer of the Corporation Venture
WORTHING JACKA	and that the members of the Partnership or Officers of the Corporation are as follows:
(President or Par	
	MARY AMINE WHITNEY
(Secretary or Par	rtner) (Treasurer or Partner)
forms of agreement and the co of the Procurement Officer,	collusion with any other person, firm or corporation; that he has fully examined the proposed ontract specifications for the above designated purchase, all of which are on file in the office DuPage County, 421 North County Farm Road, Wheaton, Illinois 60187, and all other tioned in the contract documents, specifications and attached exhibits, including , and issued thereto.
Further, the undersigned propo and other means of construct	oses and agrees, if this bid is accepted, to provide all necessary machinery, tools, apparatus, tion, including transportation services necessary to furnish all the materials and equipment contract documents in the manner and time therein prescribed.
Further, the undersigned certifiche Bidder and in accordance	fies and warrants that he is duly authorized to execute this certification/affidavit on behalf of with the Partnership Agreement or by-laws of the Corporation, and the laws of the State of on is binding upon the Bidder and is true and accurate.
Further, the undersigned certife either 720 Illinois Compiled Sta LCS 130/1 et seq., the Illinois	fies that the Bidder is not barred from bidding on this contract as a result of a violation of atutes 5/33 E-3 or 5/33 E-4, bid rigging or bid-rotating, or as a result of a violation of 820 Prevailing Wage Act.
The undersigned certifies that submitting this bid, and that the	he has examined and carefully prepared this bid and has checked the same in detail before e statements contained herein are true and correct.
were properly adopted by the lineld and have not been repeal	ned, further certifies that the recitals and resolutions attached hereto and made a part hereof Board of Directors of the Corporation at a meeting of said Board of Directors duly called and led nor modified, and that the same remain in full force and effect. (Bidder may be requested rate resolution granting the individual executing the contract documents authority to do so.)

Further, the Bidder certifies that he has provided equipment, supplies, or services comparable to the items specified in this contract to the parties listed in the reference section below and authorizes the County to verify references of business and credit at its option.

Finally, the Bidder, if awarded the contract, agrees to do all other things required by the contract documents, and that he will take in full payment therefore the sums set forth in the bidding schedule (subject to unit quantity adjustments based upon actual usage).

CONTRACT ADMINISTRATION INFORMATION:

CORRESPON	DENCE TO CONTRACTOR:	REMIT TO CO	NTRACTOR:	
NAME	TES VANSEZ MAALD	NAME	MARY O'CONNOR	
CONTACT	The last the state of the state	CONTACT	BillingMANAGER	
ADDRESS	1330 GASKET 26	ADDRESS	1330 FASKET DR.	
CITY ST ZIP	ELGIN 14 60120	CITY ST ZIP	ELIN IL GOLD	
TX	847/774-1878	TX	847-841-5306	
FX	3.77 77 1015	FX		
EMAIL	TVANDER NAALD Q	EMAIL	MARYO & GROOT, com	
	GROOT. COM		1,1,1	
COUNTY BILL	TO INFORMATION:	COUNTY SHIP	TO INFORMATION:	
DuPage County	y Facilities Management	DuPage Count	y Facilities Management	
421 North Cour	nty Farm Road	Various Location	N 100 100 100 100 100 100 100 100 100 10	
Wheaton, IL 60	187	TEL: (630) 407-5700		
TEL: (630) 407	-5700			
EMAIL: FMAcc	ountsPayable@dupageco.org			
DuPage County	y Animal Services	DuPage Count	y Animal Services	
Attn: Accounts	Payable	120 N. County	Farm Road	
120 N. County	Farm Road	Wheaton, IL 6	0187	
Wheaton, IL 60	0187	(630) 407-280		
(630) 407-2800	0			
DuPage Care C	Center	DuPage Care	Center	
Nancy Palima		400 N. County Farm Road		
400 N. County	Farm Road	Wheaton, IL 60187		
Wheaton, IL 60	187			
DuPage County	Division of Transportation	DuPage Count	y Division of Transportation	
Attn: Kathy Cur	rcio	140 & 180 N. County Farm Road		
180 N. County	Farm Road	Wheaton, IL 60187		
Wheaton, IL 60	187			
	nent/Community Center	Health Departr	nent/Community Center	
Accounts Paya		111 & 115 N. C	County Farm Road	
111 N. County	Farm Road	Wheaton, IL 60	0187	
Wheaton, IL 60	187			